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- 18,500
ST A2 2R 37,000 30,500 6,500
Al 18,500
- 18,500
308 XtXIEMSO0IE 37,000 0 37,000
Al 18,500
T 18,500
18 SIS0t & A A5 At 37,000 0 37,000
ONSTAZ 2eg L T2 X8
12,000,000& 12,000
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- 6,000
ONSTHT SYBHE X2
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- 12,500
ZHA7 =AY = 37,950 63,250 225,300
ZsHA7 =8 37,950 63,250 A\25,300
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201 fet=3| 5,400 5,400 0
01 Al 22| 5,400 5,400 0
SEER=1] 3,000,002 3,000
OS3NT LEIAS Basg
100,000& 4 & *62] 2,400
203 HR=H| 2,550 2,850 A300
03 A= PR FAI| 2,550 2,850 A300
O=2ztdd gf =4 3,000,000 *85% 2,550
307 @120l & 10,000 10,000
04 QIZHHAMAIH 2 £ 10,000 10,000
OQlEIfed 2atX+ JI2EAl X
10,000,000 10,000
SN 2 A& 2 20,000 45,000 /25,000
401 Al HIZL 201 20,000 45,000 /25,000
01 Al&H| 20,000 45,000 A25,000
OZStAIE 22| & 2= 20,000,000 20,000
AMNEZSAHE EHI 404,400 19,700 384,700
= 202,200
Al 101,100
- 101,100
S A 2323 404,400 19,700 384,700
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= 202,200
Al 101,100
- 101,100
HSAHE SMHAIAE SN2+ 4,400 19,700 15,300
= 2,200
Al 1,100
- 1,100
201 er2 3| 4,400 0 4,400
= 2,200
Al 1,100
- 1,100
02 s5=34l 4,400 0 4,400
OE3 At ETHAIAE S22l
4,400,000 4,400
= 2,200
Al 1,100
- 1,100
HSAHE 23| 400,000 0 400,000
= 200,000
Al 100,000
T 100,000
402 QI”FX+=201 & 400,000 0 400,000
= 200,000
Al 100,000
- 100,000
02 QI TH2AILEE (01X THE) 400,000 0 400,000
OHSEAE 23H| 400,000,000 400,000
= 200,000
Al 100,000
- 100,000
SEHQ 2opRa 2 1,598,834 1,629,717 /30,883
= 448,000
Al 595,904
T 554,930
EstRLE 2l 466,834 454,217 12,617
Al 266,404
- 200,430
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Al 260,269
- 176,269
201 fet= 3| 4,538 4,767 A229
Al 1,069
- 3,469
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100,000 4 & +62] 2,400
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OZg2IIS LAAY ST
1,838,000& 1,838
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—EHa Jl= ®)| W E4Q32
25,0002~ 122 300
Al 150
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401 Al HIZL 201 432,000 327,000 105,000
Al 259,200
T 172,800
01 Al&HI 432,000 327,000 105,000
OUE 4BEIEY B2TA
176,800,000& 176,800
Al 106,080
= 70,720
OBEE A AZBAI HAEZA
100,000,000 100,000
Al 60,000
- 40,000
OS3A AISE E&RL
70,000,000& 70,000
Al 42,000
- 28,000
OZ3AM XEANEE EEXC
60,000,000 60,000
Al 36,000
- 24,000
OE3 A LEIUR FXI2te]
25,200,000& 25,200
Al 15,120
- 10,080
Setea Foacel 2 1,894 1,848 46
Al 1,894
201 Let=Ehl 1,894 1,848 46
Al 1,894
01 At2t2lt] 1,8%4 1,848 46
O=3tM Fol2clel sy
157, 7602 x 1 x 122 1,8%4
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OSstRH T2 U Aol 4g
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Eeteit FA2c 10,000 80,000 70,000
401 AIEHIZ R 0HYI 10,000 80,000 A70,000
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O=3tR4t AIE 2=AIEH
10,000,000& 10,000
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201 ger=2 3| 450 1,150 AT700
Al 225
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OANE=E2st74 OHHE X2 & 2=HIZ
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- 225
401 AlEHIZ 201 8,032 3,700 4,332
Al 4,016
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OASEEat=or ST MZ
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OSZ2E &IIHEE
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- 300,000
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